MGT 4700/5700 – Fall 2019
Quiz 9 – 20 pts 
Name:  ______________________________________________                    

From the reading “Why Leadership Training Fails—and What to Do About It”

1. According to this reading, the biggest reason leadership development programs fail is because (5 pts):

a. It has become increasingly difficult to identify leaders who should be developed

b. Training is not based on the best research 

c. When trainees get back to work, the work context prevents them from applying what they’ve learned

d. Younger generations of leaders aren’t taking development seriously

2. Why is Human Resources, the department that usually creates and administers leadership development, partly to blame for poor results associated with leadership development? (5 pts)
a. HR spends most of their time on compensation/benefits

b. They find it difficult to confront senior leaders with the truth about training

c. HR is overly-focused on recruiting emerging leaders and not focused enough on development 
d. Leadership training requires a bigger budget than most HR departments are allotted

3. The common barriers to effective leadership development outlined by Beer all have one thing in common: (5 pts)
a. They’re the result of poor leadership

b. They indicate an issue with selecting leaders into training programs

c. They are all due to micro-management 

d. They fail to include an emotional intelligence component

4. If you want leadership development to stick, the____________ have to be well-thought out first. (5 pts)
a. The organizational systems 

b. Performance management methods

c. Rewards structures

d. Succession planning communications 
Extra Credit:  From the reading “An empirical study of a leadership development training program and its impact on emotional intelligence quotient”
5. The results of this study indicate that leadership development has a dramatic, positive effect on trainee emotional intelligence. (5 pts)
a. True

b. False

